Korrkturhinweise

Cashless Parking

Justifications

0

The first paragraph refers to the problems of finding a parking space. The last sentence of the first
paragraph says that things will get easier by an adhesive microchip on the windshield which will enable
cashless parking. Thus “unlocking the door” is the only answer that fits the gap contextually.

1

The sentence describes what happens when a car gets to the car park exit. The second part of the
sentence refers to the fact that drivers need not do anything, hence “open automatically” is the only
option that fits the gap contextually.

2

The sentence describes what the adhesive foil transponder does. The following sentence refers to the
method of payment of the registered parking time. Thus “register the parking time” is the only answer that
fits contextually.

3

The preceding sentence describes the advantages of the cashless parking system. From the context it
becomes clear that the main advantage is time saving. Therefore “saves time” is the only answer that fits
contextually.

4
The preceding sentence says that car-park operators benefit too. In the sentence we are informed that
the cost of recording (the parking time) is reduced. The conjunction and makes clear that it is not only the
cost of recording that is reduced. Therefore “billing the parking time” is the only answer that fits
contextually.

5

The sentence informs the reader that VIATAG is a passive RFID solution. In the following sentence we are
told that the microchip draws its energy from an electromagnetic field. Therefore “need a battery” is the
only answer that makes sense contextually.

6

In this sentence the reader is informed in which frequency the used data are sent. The following sentence
refers to the distance between transponder and reader which has to be gapped. Thus “are transmitted” is
the only answer that fits contextually.



7

The first part of the sentence informs the reader that the chip is coded and that cars can be identified this
way adding that this happens when they pass entrance and exit. Thus “passing through” is the only
answer that fits contextually.

8

The paragraph informs the reader about the accounting routine with cashless parking. The following
sentence describes all the information the user gets to supervise his or her debits. Thus “maintain an
overview” is the only answer that fits contextually.



